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Tnpsc Aptitude & Mental Ability Model Questions With
Explanation Set 2

1. If pLanT is coded as qKboS then tReE is coded as
pLanT 6T60TLIG] gKboS éT6ur GMILLILILLIT6L tReE 6TETLIG] 6TeUeUT M)

G Lu@w?

a. Uqgfd b. SQfD c. uQfD d. uTfd
ABCDEFGHIJKLMNOPQRSTUVWXYZ

v’ p next letter is q

v L is next letter of K

v’ a next letter is b

v’ n next letter is o

v T is next letter of S

v’ Likewise t next letter is ‘u
v/ R is next letter to Q

v’ e next letter is f

v E is next letter of D

2. The salary of a person was reduced by 10%. By what percent should his

reduced salary be raised so as to bring it at par with his original salary?
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@ HUfletT 2arHlID 10% (GOHMSSLLLL 2a$uigemng (PGHeOI6L eummISlw

2SS DG FLOLTS 2 WIHHIUSDG 2adluigdlev THFHemen all(psHam(h

2 WHGHHLULL. Geuesor(HLD?
1 1 1
a. 11 - % b. 12% c. 10- % d. 12 %
9 9 9
Formula method
( (X/100) - X ) * 100
( (10/100) - 10 ) * 100
( (10/90) * 100
1
= 100/9 = 11 5 %
Shortcut
Let us assume he earns Rs.1000.
If 10% is deducted then he gets Rs.900

So to reach 1000 , he should get a hike of 100

900 = 100%
1%= 9 Rs
99 = 11 %
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=11 - %
9

3. The area of field is the shape of trapezium measures 1440 m? . The
perpendicular distance between parallel sides is 24m. If the ration of parallel

sides is 5 : 3, then the length of longer parallel side is

@@ Fmiley HIMH&THSH6T LugLLeTey 1440 LH? Qpevor(® Qemevnisd CaHMm(H& S
QL Cw 2 6iTem QFHIGHG CHTLIg.60m 2wy 248, Cogy|b @yevor(
Aenevor CamBsafler al&G 5 : 3 ereflev QU @ 6m 6001 CHITLLg 66T

Heromeng)

a. 45 m b. 60 m c. 75 m d. 120 m
solution

Area of field = (1/2 (@ + b) ) h

(172 ( 5x + 3x ) ) * 24 = 1440

(172 (8x) ) * 24 = 1440

8x * 12 = 1440

96x = 1440
X = 15
5x = 5 (15) = 75 m
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4. The missing term of the following sequence is
&Cpwerer QAHTL suflem&uiled ail(RLILL 6T6HT6uoTIT 601 )l

457 40 104 229

solution

4 5 7 40 104 229

NNy

13 23 33 43 53

4 + 13 =5
5+ 23 =13
13 + 33 = 40

5. 2/3, 65%, 4 out of 7 - of these three which is greatest? Which is the least?
2/3, 65%, 7-6L 4 UMKIG @depermlev 61§l WOISLQAURWGI? 618 LOI&EAMGI?
a. 4 out of 7 is least 65% is greatest (7-60 4 LO&FEMGI, 65% LOSLICLIFILIZ)

b. 4 out of 7 is least 2/3 greatest (7-60 4 LOGEHMIGI, 2/3 OIGLAURAWIG))

c. 65% is least 2/3 is greatest(65% LO&FHAMNGI, /3 OSLICLFILIG])

q www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

d. 2/3 is least 65% is greatest(2/3 L3FHM&I, 65% LBLICLIFILIZ)

solution

2/3 = 0.66 = 66%

65% = 0.65

4/7 = 0.57 = 57%

6. What comes next?

K15 W, J 18 X, 1 21, ....

BH UIHEUG| 6T6oT6ur?

K1 W, J18 X, 121, .
a. H51Y b. H 51 X

solution

ABCDEFGHIJKLMNOPQRSTUVWXYZ

15, 18 , 21 , 24 - 24

w,X,Y,Z-Z

c. H24 2 d HS5 W
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7. Suresh wants to invest Rs. 10,00 for 3 years. Scheme A offers 8% simple
interest per annum and a final 1% bonus on the amount invested. Scheme B
offers 8% per annum compounded annually. Which scheme is better? How
much amount will Suresh get at the end of 3 years if he unvests in the better
scheme?

&Greig 10,00 EHUMEMW 3 UIHLMISNIGHEG (PGHOH Q& efl@mySmmi.
LD A uBLSHDG 8% Sefeullg SOLAWTS (PGHOH&HE 1% GUITeTeV
SHEMG). SILLLD B 8% ol (B alLly, UBLSHDGS @@ (PO aiLllq

Fal LULGBEME. @reuoriqeL TGl HeLEL HL L LD? 3iHG Hevev FlLL GHlev
WS B QAFUIGTEL 3 YT &HEHSE eT &Creg QUMD AFHTHS

6T 60T 60T?

a. Scheme A is better. Amount = Rs.12,500
b. Scheme A is better. Amount = Rs. 13,200
c. Scheme B is better. Amount = Rs. 12,597
d. Scheme B is better. Amount = Rs. 25,970

Given
P = 10,000
N =23
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R = 8%

Formula Method

Sl = (PNR / 100)

=(10000 * 3 * 8) / 100 = 2400

1% bonus = 100

P+ 1+ 100 = 10000 + 2400 + 100 =

Cl = p (1 + r/100)"

10000 ( 1 + 8/100 )3

10000 (108/100)3 = 12597

So CI is best.

Shortcut

12500

v' Simple interest will not give more interest when compared to compound

interest for the same amount , time period and rate of interest.

v' So option A and B can be neglected.

v" Option D which is 100% more than the invested amount.
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v/ But it has given only 8% only rate of interest. So option D can be
neglected.

v' So the remaining option is ¢ which is the correct answer.

8. The population of a village grows by r% every year. In 2 years the

population increases from 10000 to 11025. Then r is

@@ HITLSHHT &HESHTASTMS Y a[H @OTM % i FIng Fnlgd
Qameu (B QAFeL&EMEI. 2 6 &Hafley W&HSETAHTMS 10000 HH6OI(HH S|

11025 94,8 H&HGHFleMenG), 6Tevll6L r 6TeUEUATE?

a. 5 b. 3.5 c. 25 d 15
solution

increase in population = population ( 1 + R/100)"
11025 = 10000 (1 + R/100)2

(105/100)? = (1 + R/100)?

(105/100) = (1 + R/100)

(105/100) - 1 = R/100

(105 - 100) / 100 = R

R = 5%
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9. If 8, — 4+ - - 2.32= 5.33 then the value of x is
8%—4§+ % - 2.32= 5.33 er6ufléL x-6071 LOGLILITEUTG)

a. 40 b. 4 c. 5 d. 50
solution

8-—4=+ > - 232= 533

825 - 420 + 2.8 + = - 232 = 533

4

= (533 +420+232)- (825 +28)

%= 1185 - 11.05
X

2 =080
X

X = 4/0.80
X =5

10. If a: b=5:9and b:c=4:7then a: b :cis

a. 36 : 20 : 63 b. 36 : 63 : 20
c. 20 : 36 : 63 d. 63 : 36 : 20
solution
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20 : 36 : 63

11. If a certain sum at a certain rate of simple interest amounts to Rs. 3,810

in 3 years and Rs. 4,890 in 7 years, then the sum and rate of interest are

@@ AFTmS FHevfl euLIgLilg Ch. 3,810 & 3 QUIHLHHEYILD €. 4,890-8 7
QUBLSHVID QUL IquL 6T QSTHSHHMG. F60 WMHMID ULl IFHLOMETG)

a. (3,000, 3.5) b. (4,000, 9) c. (4,000, 4.5) d. (3,000, 9)
solution

p 3_years , 3810 _4 Years, 4890

S| for 4 years = 4890 - 3810

1080

For 3 years = (1080 / 4) * 3

810

P = 3810 - 810 = 3000

(PNR / 100 ) = 810
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(3000 * 3 * R) / 100 = 810

Py
I

810 / 90
R = 9%

12. Two men A and B can do a work alone in 8 days and 20 days
respectively. They did work together for 4 days. Find the remaining portion of
work to be completed?

A LOMMILD B 6T6TM LOENSTSHET HlHHANCW b GCauamevemil 8 HITL &6

LOMID 20 HIL&eafleL (WIUUTTS&ET. @@hHeu@bLd CFJHE 4 HTL&6T Celsmnev

Q&g L6 (PigsSsLLL. Ceuevomigl Geausmevuiler LITSLD 6T60T60T6eUT S

B\(H5GLD?
7 3 10 10
a. — b. — c. — d —
10 10 7
solution

Amount of work A can do 1/8

Amount of work B can do 1/20
Amount of work A and B can do 1 day = 1/8 + 1/20 =5 + 2) / 40 = 7/40

Amount of work A and B can do together in 4 days = 4 * 7/40 = 7/10

Fraction of work left = 1 - 7/10 = (10-7)/10 = 3/10
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13. If the capacity of cylindrical tank is 1848 m® and diameter of its base is

14m then depth of the tank is

@(h 2 (HeMeNT allgeu QHTLIquiletT Q& TeTaTETE] 1848 m’ LOMMILD JIGH6HT QUL L

Slquymsgler el L b 14 L5 ereslled ihg QAFHTL1q.uiledr 2 WIFLOT 6O G

a. 10m b. 12m c. 14m d. 16m
solution

capacity of cylindrical tank = 1848 cu.m

diameter of cylindrical tank = 14

R=14/2 = 7m

Volume of cylindrical tank = mr?h = 1848

(22/7)*7*7*h = 1848

>
1

(1848 /1 22 * 7 )

12m

>
1

14. Mohammed sells a shirt costing Rs. 300 at 20% loss to Sachin. Salim

sells it at a profit of 10%. At what price did Salim sell the shirt?
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WPSLOG| 6. 300 SIL&HSHaNM6L CHTEITL. FLML MW 20% HegL HMEG
g6e0L0M (G aNMMIY. §65D MG 10% eomuGHMG eaNHmmeL, F65LD 6T 60T60T

allemevsd (G FLMLMW eMHmmy?

a. Rs. 264 b. Rs. 270 c. Rs. 280 d. Rs. 330
solution

Mohammed sells a shirt costing Rs. 300 at 20% loss to Sachin.

cost price = 300

with 20% loss means selling price will be = 300 - 60 = 240

Salim sells it at a profit of 10%

Cost price = 240

Sell at 10% profit = 240 + 24(10% Of 240) = Rs.264

P 2
15. Simplify : \/(32)2

223

32)2

&r@&@&,.x/t

64

o
N-N -]
Q.
wN

solution
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22° 43 4
Ve = Vg = Vg = 89

16. The least number when divided by 6, 7, 8 and 9 leaves the same

remainder 1 in each case is

6, 7, 8 LDMMILD 9 Q6L UGEHS @Gy LA 5H 1 umSHlerm &EF Sl

6T 6U0T 6501 IT 607 5|

a. 3025 b. 1680 c. 840 d. 505
solution

505/6 the remainder will be 1

505/7 the remainder will be 1

505/8 the remainder will be 1

505/9 the remainder will be 1

17. Area of trapezium is 960 cm?. The parallel sides are 40 cm and 60 am.

Find the distance between parallel sides

@ FHeusSHT LIFLL 960 cm? IG6HT @6n6wT L&SMIG6T 40 Q.5 HmIb

60 Q&.L5 eTevlleL Qemevar LSHHMIGEHE G QEOLLLLL HTTSHMSHS &IT6vor.
a. 18.2 cm b. 19.2 cm c. 204 cm d. 214 cm

solution
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¥2* ( sum of parallel sides ) * height = Area

2 * (40 + 60) * h = 960

>
1l

(960 * 2) / 100

>
1

19.2 cm

18. 7 men can do a work in 52 days. In how many days can 13 men can

finish the same work?

7 QYL &6T (H Geusmevemil 52 BHITL &ML (DIQLILMTSH6T eT6ollev HCH

GeumevemIL 13 QYL &6IT THHM6T HTLSaflew (LPlgLILIMTS6IT?

a. 21 days b. 28 days c. 24 days d. 30 days
solution
total work = no of members * no of days

total work 52 * 7 = 364

13 men can finish 364 work = 364/14 = 28 days

19. If a cube which is painted white on top and red on other 5 sides is cut
into 27 identical small cubes, how many of the smaller cubes have just one

side painted red and other sides unpainted?
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P SH6 FHLMAG @Gy IHFILTET 27 HATEFGIPRISETTS &6 [H
CuTLUUGEMGI. (L0 QBHS HETFHILL GCLOMLMLD QEUETEMETILITS LD
MM 5 USSMHIGET HeULILTSHLD euJeuod L FULLI@GHSHF. HiMw seor
FGITRISH6flL THHM @GP (b USHSHL HeULILMSHELD oMM LS SHkIS6T

GUJEUUTLD L SFLILILMLOGYILD @)\(1h & (GLD?

20. The length of building is 40 m and its breadth is 20m. a path of the width

1m is made all round the building outside. Find the area of the path

@@ SL gL St Heord 40 Lf 215601 i&H6evld 20 Lf HLIgL GMG &M
Qeuafluilev 1 1§ HLHHDEG LTMG MLSSHLILIL I (HHSTEL LIT60 & Uiledr

LIJLIL 6T60T601?

a. 144m? b. 134m? c. 124m? d. 104m?
solution

length of the building = 40m

breadth of the building = 20m

area of building = (I * b) = (40 * 20) 800 sg.m

length of building including path = (40 + (1 + 1) ) =42 m

breadth of building including the path = (20 + (1 + 1 ) ) = 22m
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Area of the building including path = (| * b ) = ( 42 * 22 ) = 924 sq.m
Area of path = (924 - 800) = 124 sg.m

21. When x= 25, the value of (5x% + 10x) =(x+2) is

X= 25 ereufled (5x% + 10x) +(x+2)-681 LOFKLILITEU)

a. 125 b. 175 c. 225 d. 250
solution

( (5 *625) + (10 * 25) )/ ( 25 + 2)

( (3125 + 250 ) ) / (27)

3375 | 27

125
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